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ad 3208 chl.py

from gpiozero import MCP3208
from time import sleep

data = []
Max=4096 #12bit : 2*12=4096

count=0

foriin range(1): # Number of channel
data.append(MCP3208(channel=i))
while True:
ch_O0=int(Max* data[0].value)
print(count, ch_0)
sleep(0.05) #Sampling speed
count+=1

11



DD S AT AD xR

GPIO17 ON-OFFmIiESR (L ELME)
131y 2RELEL &£,

BB BEv YA FTE
CLEDA RIS B a0 7
ZIERLLEL &£ 9D,




— I o
cd Desktop

}j—:jj 7 > ‘H‘ cd Analog_AD

XADZHa2: (MCP3208) o JE)
EElZZDF FICL £,
xBEL Y EREIUCAMEIC
EhE oYzl T<7ZE 0,

X7 Oy 7%
ERALEL &£ 9,




chO

chl

3.3V gND 3-3V
QLOO

JN3LS | e ON m

GND
- BRAS : 3.3V (E#)

« BLE : 660mV/g (1R#E)
- 0g £ :1.65V (IR#)

2] ad 3208 chl. py#% #]

1L T, ASF v %)L %Z23D

L&D, L



GND 3.3V Vout

%5@’@ ~ 47L @}K%JL

|
T,
G
i
do
i
]

BES | BM N

1 Vo BH (BEER1 00K Q M EHSE)

2 VDD BR+ (F¥3. 3V)

3 EN AR=T)I (H=FMEFE— R, L=RFHEE—F)
4~8 |GND T3V R

[Ewu]ad 3208 _chl. py% F
48 DT £ BED
R{K%ET%"J: 7 o

eh

15




o OHE T ES
(1) EhEY (2) IEE+L Y (3) &Rt Y
' chO

3.3V gND 3-3V

JN3LS | e ON m

N ; (8:34 €
' o
-+ m

Y < [as] O

Gh” r”

: ”L

-ﬁ--GND--u

2e08

XX/Y/ Z GND

0006

3.3V

e GND

chO 16




EDAMBED KR E & CTLEDD 24T 72 il

(v b)) Bz X, SHKT (AZMMZTWiARL) 600,
ML HEMZBEZEELOUE, SHICHEMZDEE A
00 KM & 9 4L,
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pwm_led.py

import RPi.GPIO as GPIO
import time
import sys

Led_pin =23
GP10.setmode(GPI0.BCM)
GPI10.setup(Led_pin, GPIO.0OUT)
Led = GPIO.PWM(Led_pin, 50)
Led.start(0)
bright =0
flag=0
while True:
try:
Led.ChangeDutyCycle(bright)
time.sleep(0.01)
if flag == 0:
bright +=1
else: bright -=1
if bright >= 100:
bright = 100
flag=1
elif bright <=0:
bright = 0
flag=0
except Keyboardlnterrupt:
Led.stop()
GPI0O.cleanup()
sys.exit()
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I'C. py import RPi.GPIO as GPIO
import time
import sys

Led pin =23
GPI10.setmode(GPIO.BCM)

GPI10.setup(Led_pin, GPI0.0OUT)
Led = GPIO.PWM(Led _pin, 50)

Led.start(0)

bright =0

flag=0

while True:
try:

Led.ChangeDutyCycle(bright)

time.sleep(0.01)

if flag == 0:
bright +=1

else: bright -=

if bright >= 100:

bright = 100
flag=1

elif bright <=0:
bright =0
flag=0

except KeyboardInterrupt:

Led.stop()
GPI10.cleanup()
sys.exit()

rc2.py

import RPi.GPIO as GPIO

import time

import sys

Servo _pin=14
GP10.setmode(GPIO.BCM)
GPI10.setup(Servo_pin, GPI0.0UT)

Servo = GPIO.PWM(Servo_pin, 50)
Servo.start(0)
def servo_angle(angle):
duty = 2.5 + (12.0 - 2.5) * (angle +
90) / 180
Servo.ChangeDutyCycle(duty)
time.sleep(0.1)

while True:
try:
servo_angle(0)
servo_angle(90)
servo_angle(0
servo_angle(-
servo_angle(0
except KeyboardlInterrupt:
Servo.stop()
GPI10.cleanup()

sys.exit()

)
90)
)
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rc.py iIRA b

while True:

try:
Servo.ChangeDutyCycle(2.5) #7a1—7«E[2.5%] = -90°
time.sleep(0.5) #0.5FEIFFD
Servo.ChangeDutyCycle(7.25) #7a1—T7«Ltk[7.25%] = 0°
time.sleep(0.5) #0.5FEIFFD
Servo.ChangeDutyCycle(12) #F5a1—74Lt[12%] = +90°
time.sleep(0.5) #0.5%EIFD

except KeyboardInterrupt: #Ctrl+CE¥—n S 1=
Servo.stop() #H—IRE—2%F AT
GPIO.cleanup() #GPIOZE D) —> Ty

sys.exit() #IOTSLERT



—R rc2.py
AVWELGED1—ILEAR—k

import RPi.GPIO as GPIO  #GPIORMDEY a—ILEFA2R—F
import time #EEBIGIEBADE 2 —ILEAR—k
import sys #sysED 1—ILEAiR—k
#R—hrEFDER
Servo_pin = X #7ZZ £0"Servo_pin"IZXZ & #R

°__ 2 4 S5 ik (- 2R
#GPIOM = GPIOZR—hES TR OAEITEE

GPIO.setmode(GPIO.BCM)  #GPIOME—K%"GPIO.BCM"IZE%*E
GPIO.setup(Servo_pin, GPIO.OUT)  #GPIO X2t HE—FIZEETE

#PWMD % 5E
#H—RE—2SGI0D & K%L 50[Hz]
#GPIO.PWM(FR—+&EB, BIKE[Hz])
Servo = GPIO.PWM(Servo_pin, 50)



—XR rc2.py

Servo.start(0) #Servo.start(7 2 —7 s LtE[0-100%])

HEENSTA—TLERD LB
def servo_angle(angle):
duty = 2.5 + (12.0 - 2.5) * (angle + 90) / 180
HEENST1—TaHERDD
Servo.ChangeDutyCycle(duty) #Ta1—T4 L2 ZEE
time.sleep(0.3) #0370 MO

2.5%] = -90°
7.25%] = 0°
12%] = +90°




J—A rc2.py

#whileXX CERIL—T

#H—RE—FDA
#Servo.ChangeDutyCycle(7T o

while True:
try:
servo_ang
servo_ang
servo_ang
servo_ang
servo_ang
servo_ang
servo_ang

except KeyboardInterrupt:

e(-90)
e(-60)
e(-30)
e(0)
e(30)
e(60)
e(90)

Servo.stop()
GPIO.cleanup()

sys.exit()

Ex T

T 4 Lb Gl {E

T 1 EE[0-100%])
#H—HRE—42 -9
#H—HRE—42 -6
#HY—RE—4 30
#H—RE—42 0°
#H—"HRE—42 30°
#H—FRE—42 60°
#H9—HRE—42 90°

#Ctrl+Cx—MEnf-
#H—RE—AREFRXMYT
#GPIOZV)—2 7wy
#TOTSLERT
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